MATH 174 Quiz 2
PID:

Solve the problem systematically and neatly and show all your work. /)

Name:

1.(2pts) Find the distance from point P = (1,2,3) to the plane 2z +y + 22 = 4.
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2. Let P =(1,2,3), Q@ =(0,4,5) and R = (-2,6,8),

(2pts) (a) find a unit vector which is perpendicular to plane PQR.
(2pts) (b) find the area of triangle PQR.

(2pts) (c) find the equation of the plane through poi\xets P,Q and R.
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3.(2pts) Let P = (1,3,0) and @ = (2,2,2), find the parametric equation for the line through points

P and Q.
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